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1 X 2 — 7 x 4+ a = 0DO1oDOMN x = -3 OLx

a OEEH I 1 OOfFERDIRI N,

2 X + m x + n =0 N x = 4, -3 DOLxE,
m & n OEZRDRIV,
3 Xx 2 + a x 4+ b = 00OfE» x = 2, 5 OLx,
DL x, a & b DfEZRDZIV,
4 x % + a x + a? - 4 =0H»Nn x = 2 EMLolx,
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fR A
1 x = -3  ZftA
(3)2 — 7 X -3 + a =0
a = -30
x & — 7 x - 3 =0
(x + 3 ) ( x = 10) =0
x = -3, 10 XoTHofEix x = 10
2] x = 4 KA
(4)2 + 4 m + n =0
4 m + n -16 @
x = -3 ZE AW
(-3)2 - 3 m + n 0
-3 m + n -9 ®
O-®@ 7 m -7
-1
OIZRA 4 X -1 + n -16
n = -12
m = -1, n = -12
*BfE  x = 4, -3  EfELTDH2WFENT
( x - 4 ) ( x + 3) = 0
x 2 - x - 12 =0
Lo T m = -1, n = -12
3 x = 2  ZEZfA
(2)2 + 2 a + b 0
2 a + b -4 @
x = b ZE AW
(5)2 + 5 a + b 0
5 a + b -25 @
@ -0 3 a = -21
a = -7
OIAWN 2 X -T + b -4
= 10
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kPfiE x = 2, 5 mfELTD2WIENT
( x - 2) ( x = 5 ) = 0
x 2 - 7 x + 10 =0
roT a -7, b = 10
4 x = 2 ZEA
(2)?2 + 2 a + a? - 4 =0
a? 4+ 2 a =0
a2 4+ 2 a =0
a (a + 2 ) =0 a = 0, -2
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